B.A./B.Sc./Part-1/Gen./ECOG-1/2017

WEST BENGAL STATE UNIVERSITY
B.A./B.Sc. General PART-I Examinations, 2017

ECcONOMICS-GENERAL

PAPER-ECOG-I

Time Allotted: 3 Hours

The figures in the margin indicate full marks.
Candidates should answer in their own words
and adhere to the word limit as practicable.

1. Answer any fen questions from the following:

e @-coimt w5 et Ted mes
(a) Define Indifference Map.

fameer Nwica Pt 90 ¢
(b) What is Giffen good?

ice 7 I 0 7

Full Marks: 100
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2x10=20

(c) When will cross price elasticity of two goods be positive?

s BifEwia R Tor T U 4aIe I ?

(d) What is substitution effect?
S 2SR FIE A 2

(¢) What do you mean by Returns to scale for a production process?

eI CHE MIGie eifewitad foam Feics & @ 2

1037 1

Turn Over



B.A./B.Sc./Part-1/Gen./ECOG-1/2017

(f) What is an Isoquant?
ACTRA (A BICE A 2
(g) What do you mean by long run in a production process?
AT (LT RIS 709 1 AN 2
(h) What is derived demand?
Tge bifEnl I 0 ¢
(1) Define the concept of market in economics?
wdifere ‘e Iere & Q@i 2
- (1) What is opportunity cost?
A I &
(k) What &y you mean by collective bargdining?
“(Y AR Fer R R ¢
(I) Why is the labour supply curve backward bending in nature?
ST M (R FOIRT (oMM 2 (et ¢
(m) Differentiate between gross and net profit?
1 8 A5 T Ty AN (A

(n) What is differential rent?

AT ST I 0 9

2. Answer any five questions from the following: 16x5 =80
ffeiRe @it #ff5fb elvas Tew mas
(a) Explain the law of Diminishing Marginal Utility with all its assumptions. 10+6

Also discuss exceptions to this law.

TR Trad R TR 2% Torasm RS Retwd s @2 [iga
Flogwafs fNom s
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(b) How do you derive an income consumption curve? When will this curve be 8+8
downward sloping and backward bending?

w1 Cotet (@4 RrofR el a1 A1 ¢ @ @2 9 TR @ 3 ol 2 I
T

(c) What is price elasticity of demand? How do you measure the price elasticity ~ 2+10+4
at a point on a straight line demand curve? State what will be the values of
elasticities at different points on the line?

BifwR wwsTs Ffegoe e 76 | 9Pb FEERS SifER @R (@ (@it [Ire
iftwin wete ffeRsee e A s = uﬂimﬁaﬁ%ﬁw

Ffegiwer Rfen amefs e e F@

(d) Explain with diagram why the short run average cost curve is “U” shaped in 16
nature. ‘ '
FHPN 51 T @ U-SNFToF 2 (1 a7z J I

(¢) Derive the short run supply curve of a firm under perfect competition. 10+6

Explain the concept of “shut-down point” in this context.

o4l efeTaIAToN T @I FIGR TR QAT @2 o F01 92 2R
Teriwe e [Rgg qiets i et

(f) What are the features of a monopoly market? Explain the short run 6+10
equilibrium positions of a firm under monopoly.

awﬁmw«m@%%ﬁsmmmwwwﬁwm
ffen wmrafer gRica eean

(g) What is price discrimination? When is it possible and when is it profitable? 2+2+2+10
Show the equilibrium of a discriminating monopolist.

RN PR I I 9 AFHOA P CFCI WA LI FI 7T ¢ T
TGS 7 AN ARG (R Bz aFHHA FRARR Sy swE I
GIail
(h) Define economic rent. Show that rent can be a component in any factor 4+12
income.

SATeT QS FIE A 9 (TN (T TG SAMICTR SR T ST o ffge
LG
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» (i) What is trade union? Can a trade union increase both the wage rate and level
of employment at the same time? Give reasons for your answer.

Wﬂ\ﬂwﬁﬁ@mwﬁaw@ﬁwﬁmwmﬁameﬁmm?ﬂﬁw
BITS AR | I&HE FEAHA! FCR1

(j) How is the equilibrium rate of interest determined with the Keynesian theory
of liquidity preference?

(RS IR 1T S FIRIC RS IR o 2 e =)
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